11.1 Practice — Parabolas

Name: gﬁ[, nkian <

In exercises 1-4, Sketch the graph of the given equation and fill in the blanks for the given information.

1.(x+2)=-12(y+1)

Yp=-\2
P=-"4

2.(y+2)2=16(x+3)

Yp=\L
pP=4

3. (y — 1)? = 8(x + 3) Coordinate of vertex: (-*"%/ D A

tp= ¢
P=k

Coordinate of uertex:/ 2 ‘>
J

Direction it opens: Aawv\

Axis of symmetry: >< — __2 T

Coordinate of focus:( B ~
- _ 1
2,4) B
Equation for directrix: 51_)\[

Coordinate of vertex:/—} —-J\> A
/

Direction it opens: (™ | 3\,‘—-{_—_

Axis of symmetry: b = 'l 4

Coordinate of focus: ( -
\ 1)

Equation for directrix:

Direction it opens: (™| ')\,.\»t-

Axis of symmetry: b: ] <

Coordinate of focus: {,_ | }>
)

Equation for directrix:
%<=-3
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| Algebra Skills:
1. Graph f(x) = —/x -3 +1 Multiply.
» 2 (2+43)(3 -
G- 34

[2+5)
3. (2+V7)(E-V3)

Solve by factoring.
4 x*+16x=0

53»3 X (%~+16)=0

S.x*—5x4+4=0

-4 =0

|6- 23435~ ﬁ?“ K-Dperd-Nxsd)=0

[ x=2>, 10

SATG Prep:

1. What is the focus of the graph shown?

A (0, -3)
(8) (0, 3)
=30

2. The distance between (3,—1) and
(-3, ¥)is 2J/10. What isa positive

value fory? o
2 = I+ (1=

1 4ta= 36 4E1-9

Y= (-1-9)

1) s

=]




4. (x—-1)P2=-2(y—-4) Coordinate of vertex: (.fv>

L(p:’D\ Direction it opens: /{o‘w\f\ S REEEEEY =N
\ Axis of try: > —
C= "i xis of symmetry: > — l

~
Coordinate of focus: ( I 3
)—5'5/

Equation for directrix: Lﬁ: L{ S.

v

In exercises 5-12, find an equation for the parabola that satisfies the given condition. Use
the same form we used in our notes. (The quantity squared will be isolated.)

5. Vertex (0,0), focus (—3,0) 6. Vertex ( 4 —4), focus (-2,—4)
¢=-3
dp=- 12, ﬁf o=
¥ ¥
(5= E;To = % (<)
7. Vertex (=5,6), focus (-5,3) 8. Vertex (4,3), directrixx = 6

10. Vertex (—2,—8), directrixx =0

| P_ =
Vb+ s;) -—84-1-)}
11. Focus (0 1), directrix x = 10 12. Focus (3,4), directrixy = 1

Ei Verkex: (5,1) Verke<: (3, 2.5
: P—

i Pt
(5 ) Q\o(x:—E)

13. Focus: (—4,9), directrix: x)— -6 14. Focus: (8 ——) directrixy = —g
I.e \/Q(*“Q}(CSC?\ 3‘3 -DS'-‘-LH&‘ - =
C P= TR c =kt
\ He = Ve C%)—%
(‘3—”\\3 - "\(X—PS) C= \/()_ \ - -
Y=< A




